SUBJECT: Award of Bid No. 17-111B, S. Silver Salmon Drive Fish Passage Improvement Project to Western Construction &

Equipment, LLC for the contract amount of \$198,740.00.

AGENDA OF: June 6, 2017

consideration.

ASSEMBLY Oppr Osc	action: Oved under Nole (6-6-	17 B	Cen	nse	nt	
MANAGER	RECOMMENDATION:	Present	to	the	assembly	for

APPROVED BY JOHN MOOSEY BOROUGH MANAGER:

Route To:	Department/Individual	Initi	als	Remarks	
	Purchasing	A			
	Capital Projects Director	1 APX	5	5/22/17	
	Finance Director	9			
	Borough Attorney	N	>		
	Borough Clerk	Som		Spely	A STATE OF THE STA

ATTACHMENT(S): Fiscal Note: Yes X No Advertisement (1p)

Analysis Sheet (1p)

SUMMARY STATEMENT: On April 21, 2017, the Matanuska-Susitna Borough issued a solicitation requesting bids from qualified contractors to provide labor, equipment and material to construct a new fish passage culvert where a Caswell Creek tributary crosses S. Silver Salmon Drive north of Willow, Alaska. The project will replace the existing six foot diameter culvert under S. Silver Salmon Drive with a new box culvert and a four foot diameter flood relief culvert. The project will also replace, raise and widen the existing roadway. The Capital Projects Department, Pre Design and Engineering Division will be administering the contract. In response to the advertisement, five (5) bids were received.

Award recommendation is being made to Western Construction & Equipment, LLC with their bid being responsive and responsible for base bid. The Contractor shall complete the work no later than August 31, 2017 following the issuance of the Notice to Proceed.

RECOMMENDATION OF ADMINISTRATION: Award of BID NO. 17-111B, s. SILVER SALMON DRIVE FISH PASSAGE IMPROVEMENT PROJECT to WESTERN CONSTRUCTION & EQUIPMENT, LLC for the contract amount of ONE HUNDRED NINETY EIGHT THOUSAND SEVEN HUNDRED FORTY AND NO/100 DOLLARS (\$198,740.00).

Page 2 of 2 AM No. 17-055

MATANUSKA-SUSITNA BOROUGH FISCAL NOTE

AGENDA DATE:

June 6, 2017

SUBJECT:

Award of Bid No. 17-111B, S. Silver Salmon Drive Fish Passage Improvement Project to Western Construction & Equipment, LLC for the contract amount of \$198,740.00.

-						_
\cap	DΤ	\sim	N	Λ	ГО	D.
\cup	Δ	u	.IV	H	ı	г.

ORIGINATOR: Pu	urchasing									
FISCAL ACTION (TO BE CO	OMPLETED BY FINAI	NCE)	FISCAL IMP	PACT (YES NO						
AMOUNT REQUESTED	198,740		FUNDING S	FUNDING SOURCE Federal Gants/Anau						
FROM ACCOUNT # 4/10	.000.000	XXXXX	PROJECT #	30114		7 . 100.000				
TO ACCOUNT :		727	PROJECT #							
VERIFIED BY:	unfuk	DH.	CERTIFIED	BY:						
DATE: 5/	23/11		DATE:							
EXPENDITURES/REVENUES:	,	(Thousands of Dollars)							
OPERATING	FY2017	FY2018	FY2019	FY2020	FY2021	FY2022				
Personnel Services										
Travel										
Contractual				5.						
Supplies										
Equipment										
Land/Structures										
Grants, Claims										
Miscellaneous										
TOTAL OPERATING										
CAPITAL	198.7									
REVENUE										
UNDING:			(Thousands of Dollars)						
General Fund										
State Federal Funds	147.0									
Other	51.7									
TOTAL										
POSITIONS:										
Full-Time										
Part-Time										
Temporary										
ANALYSIS: (Attach a separate pa	age if necessary)									
PREPARED BY:		į	1 0	PHONE: _						
DEPARTMENT:	1			DATE:	,1 1					
APPROVED BY:	Jenne 7	Kend	<i>Y</i>	DATE:	5/23/1	7				

MATANUSKA-SUSITNA BOROUGH 350 East Dahlia Palmer, Alaska 99645

ADVERTISEMENT

VEND	OR		ACCOUNT #	DATE FOR ADVERTISEMENT
Alaska Dispatch News		MATA 0070 April 21,		April 21, 2017
Frontiersman			CONTRACT	April 23, 2017
TYPE OF AD: () Display ()		X) Classified	() Public Information	

The material herein must be printed in its entirety on the dates shown above. Affidavit of publication is required prior to payment.

MATANUSKA-SUSITNA BOROUGH BID #17-111B S Silver Salmon Drive Fish Passage Improvement Project

The Matanuska-Susitna Borough is soliciting bids from qualified contractors to provide labor, equipment and material to construct a new fish passage culvert where a Caswell Creek tributary crosses S. Silver Salmon Drive north of Willow, Alaska. The project will replace the existing six foot diameter culvert under S. Silver Salmon Drive with a new box culvert and a four foot diameter flood relief culvert. The project will also replace, raise and widen the existing roadway.

Bid documents are available **April 21, 2017** in the Purchasing Division, Matanuska-Susitna Borough, 350 E. Dahlia Ave., Palmer, AK 99645. For Information: (907) 861-8601, Facsimile: (907) 861-8617, e-mail <u>purchasing@matsugov.us.</u> This bid document may be available on the internet at <u>www.matsugov.us.</u> A document fee of \$10.00 will be charged for materials picked-up and \$15.00 for materials mailed.

Pre-bid/Site Visit: May 2, 2017 @ 10AM in the Purchasing Division

Bids open: May 16, 2017 @ 3PM in the Purchasing Division

Bids must be received in the Purchasing Division prior to the time fixed for opening of the bids to be considered. Time of receipt will be determined by the time stamp in the Purchasing Division.

Persons needing accommodation in order to participate should contact the borough ADA coordinator at (907) 861-8687.

The Matanuska-Susitna Borough reserves the right to accept or reject any or all bids, waive any and all technicalities or informalities it deems appropriate. Award of this project is subject to the availability of funding.

Page 1 of 1 Requested by: Signature on File	Approved by: Signature on File
---	--------------------------------

DEPARTMENT ACCOUNT NO.: 100.180.183.422.000

-
D
5
3
_
1
0
51
M

					BID TABULATIO								
					BID #17-1116 May 16, 2017 @ 3								
	BIDDER			Western Construction & Equip.		Ficklin Construction		Gumley E	Gumley Excavation		Chumley's Inc		Contractors, LL
Pay Item Number	Pay Item Description	Pay Unit	Quantity	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	
201(3B)	Clearing and Grubbing	Lump Sum	All Reg'd		45.000.00				101111111111111111111111111111111111111	OHIT PROCE	TOTAL PRICE	ONTI PRICE	TOTAL PRICE
202(4)	Removal of Culvert Pipe	Linear Foot	60	\$20.00	\$5,000.00 \$1,200.00	\$83.34	\$1,600.00		\$7,160.00		\$3,500.00		\$7,000.0
203(3)	Unclassified Excavation	Cubic Yard	750	\$10.00	\$7,500.00	THE RESIDENCE OF THE PERSON	\$5,000.40	\$40.00	\$2,400.00	\$150.00	\$9,000.00	\$100.00	\$6,000.0
203(5F)	Borrow, Type F	Cubic Yard	550	\$30.00	\$16,500.00	\$8.00 \$11.00	\$6,000.00	\$16.46	\$12,345.00	\$14.00	\$10,500.00	\$12.00	\$9,000.0
203(5IIA)	Borrow, Type II-A	Cubic Yard	560	\$20.00	\$11,200.00	\$11.00	\$6,050.00 \$6,160.00	\$35.13	\$19,321.50	\$24,00	715/200100	\$50.00	\$27,500.0
203(5B)	Borrow, Type B	Cubic Yard	540	\$18.00	\$9,720.00	\$11.00	\$5,940.00	\$22,00 \$33,13	\$12,320.00	\$24,00	\$13,440.00	\$40.00	\$22,400.0
301(4)	Aggregate Surface Course, Grading E-1	Cubic Yard	232	\$30,00	\$6,960.00	\$18.00	\$4,176.00	\$33.13	\$17,890.20	\$24.00	\$12,960.00	\$35.00	\$18,900.0
602(4)	Structural Plate Aluminum Box Culvert 16'-8" Span, 7'-6" Rise: Solid Invert, with weir, installation (Owner Supplied)	Linear Foot	54	\$400.00	\$21,600.00	\$462,96	\$24,999.84	\$555.56	\$11,066.40	\$60,00 \$550,00	\$13,920.00 \$29,700.00	\$63,00	\$14,616.0
603(1)	48 Inch CSP (Owner Supplied)	Linear Foot	48	\$120.00	\$5,760.00	\$312.50	415 000 00			SUBSUBINE S	1 - 1 - 0 - 0 - 0	\$770.00	\$41,580.0
611(3)	Collar Armor	Cubic Yard	70	\$110.00	\$7,700.00	\$180.00	\$15,000.00	\$74.00	\$3,552.00	\$350,00	4.0/000100	\$165.00	\$7,920.0
616(2)	1/2 Inch Diameter Thaw Pipe	Each	2	\$1,000.00	\$2,000.00	THE RESIDENCE OF THE PARTY OF T	\$12,600.00	\$131.39	\$9,197.30	\$150,00	\$10,500.00	\$110,00	\$7,700.0
618(1A)	Seeding, Type A	Acre	0.35	\$8,000.00	\$2,000.00	\$4,500.00	\$400.00	\$450.00	\$900.00	\$1,000.00	\$2,000.00	\$1,160.00	\$2,320.00
620(1)	Topsoil	Square Yard	1,600	\$3.00	\$4,800.00	\$4,500.00	\$1,575.00 \$3,200.00	\$4,300.00	\$1,505.00	\$15,000.00	10/200100	\$33,800.00	\$11,830.0
621(5)	Vegetative Mat Salvage and Replanting	Square Yard	40	\$65.00	\$2,600.00	\$10.00		\$16.00	\$25,600.00	\$8.00	\$12,800.00	\$6.00	\$9,600.0
640(1)	Mobilization and Demobilization	Lump Sum	All Reg'd	100,000	\$15,000.00	\$10,00	\$400.00 \$51,000.00	\$35.00	\$1,400.00	\$250,00	\$10,000.00	\$260,00	\$10,400.0
641(1)	Erosion and Pollution Control Administration	Lump Sum	All Reg'd		\$500.00		\$12,000.00		\$35,500.00		\$40,000.00		\$37,000.0
641(3)	Temporary Erosion and Pollution Control	Lump Sum	All Req'd		\$1,500.00		\$8,400.00		\$3,800,00 \$5,300,00		\$1,000.00		\$6,000.0
642(1)	Construction Surveying	Lump Sum	All Req'd		\$6,500.00		\$12,000.00		\$6,400.00		\$13,000.00		\$7,000.0
642(3B)	Two Person Survey Party	Hour	12	\$150.00	\$1,800.00	\$150.00	\$1,800.00	\$200.00	\$2,400.00	\$250.00	\$4,000.00		\$7,350.00
643(2)	Traffic Maintenance	Lump Sum	All Req'd		\$2,500.00		\$1,500.00			42,50,00	\$3,000.00	\$235.00	\$2,820.00
671(2)	Live Willow Staking (2' on center)	Square Yard	100	\$25.00	\$2,500.00	\$75.00	\$7,500.00	\$99.00	\$2,500.00	4110.00	\$1,500.00		\$5,250.00
671(3)	Coir Log and Brush Layering	Linear Foot	100	\$75.00	\$7,500.00	\$65.00	\$6,500.00		\$9,900.00	\$110.00	\$11,000.00	\$160.00	\$16,000.00
671(4)	Stream Substrate	Cubic Yard	291	\$100.00	\$29,100.00	\$75.00	\$6,500.00	\$99.00 \$82.00	\$9,900.00	\$150.00	\$15,000.00	\$175.00	\$17,500.00
672(1)	Stream Diversion & Dewatering	Lump Sum	All Reg'd		\$6,500.00	1000		\$62,00	\$23,862.00	\$60.00	\$17,460.00	\$95.00	\$27,645.00
800(1)	Interim Work Authorization	Contingent Sum	All Req'd		\$20,000.00		\$51,100.00 \$20,000.00		\$17,950.00		\$30,000.00 \$20,000.00		\$16,000.00
	TOTAL BASE BID				1100 710								720,000.00
	TOTAL BASE BID			The second secon	\$198,740.00		\$286,726.24	PER 1415-151	\$292,169.64		\$319,530.00		\$359,331.00